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TNPSC DEO MAIN EXAM – 2023 
Mandatory test XIiI 

CHEMISTRY & APTITUDE AND MENTAL ABILITY IV 
 
Total Marks: 300              Time: 3 hrs 

Section A 
15 x 10 = 150 

Answer the following in 150 words each 
 
1. List out various uses of Nitrogen compounds.  

iel;u[d; Nrh;kq;fspd; gy;NtW gad;ghLfis gw;wp tpsf;fp vOJf 
 

2. Write down the various uses of ethanol 
vj;jdhypd; gy;NtW gad;fisg; gw;wp vOJf. 

 
3. Write about emulsions and their types?  

ghy;kq;fs; kw;Wk; mtw;wpd; tiffis gw;wp vOJf. 
  

4. Name some chemical and biopesticides used in India  
,e;jpahtpy; gad;gLj;jg;gLk; caphp kw;Wk; Ntjp g+r;rpf;nfhy;ypfspd; ngah;fis vOJf 

 
5. Answer the following 

gpd;tUtdtw;wpw;F tpilasp 
 

a. What are mish metals? Give their uses.  
kp~; cNyhfk; vd;why; vd;d? mtw;wpd; gad;fis jUf. 

 
b. Write a note on Plumbo Solvent.  

gpsk;Ngh fiug;ghd; gw;wp vOJf. 
 

6. Write down various uses of bases  
fhuq;fspd; gy;NtW gad;ghLfis vOJf. 

 
7. Answer the following 

 
a. What is meant by PLA plastics?                                    

PLA nefpopfs; vd;why; vd;d? 
 

b. Explain Isomerism  
khw;wpak; gw;wp tpthp. 

 
8. What do you mean by Aqua regia mention its uses? 

,uh[ jpuhtfk; vd;why; vd;d? kw;Wk; mjd; gad;fis gw;wp vOJf. 
 

9. Mention the physical and chemical properties of metal  
cNyhfj;jpd; ,aw;gpay; kw;Wk; Ntjpapay; gz;Gfisg; gw;wp $Wf. 
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10. Answer the following questions 
gpd;tUk; tpdhf;fSf;F tpilasp 

 
a. What is LPG? What are its components? (3m) 

LPG vd;why; vd;d? mjpYs;s thAf;fs; ahit? 
 
b. Write notes on Shale Oil. (3m) 

N~y; vz;nza; gw;wp Fwpg;ngOJf 
 

c. State any four uses of Ethyl Alcohol. (4m) 
vj;jpy; My;f`hypd; VNjDk; 4 gad;fisf; $W. 

 
11. Answer the following questions 

gpd;tUk; tpdhf;fSf;F tpilasp 
 

a. Bleaching Powder  
ryitj; J}s; 

 
b. Baking Soda  

rikay; Nrhlh 
 
12. Answer the following questions 

gpd;tUk; tpdhf;fSf;F tpilasp 
 

a. Difference between Chemical reaction and nuclear reaction.  
NtjptpidfSf;Fk; cl;fUtpidfSf;Fk; ,ilNaAs;s NtWghL ahJ? 

 
b. Compare the properties of the various types of solutions.  

gy;NtW tifahd fiury;fspd; gz;Gfis xg;gpLf. 
 

13. Answer the following 
 

a. If the angles triangle are (3 ) ,(2 7) (4 11)x x and x− − , then find the value of x.   (5 m) 

Kf;Nfhzj;jpd; %d;W Nfhzq;fs; KiwNa (3 ) ,(2 7) ,(4 11)x x x− −  vdpy; x d; kjpg;G 
fhz;f 

 
b. Find the length of the side of a regular polygon of 9 sides inscribed in a circle of radius 8 

units. (5 m) 
8 myF MuKila tl;lj;jpDs; mike;j 9 gf;fq;fisf; nfhz;l xOq;F gyNfhzj;jpd; 
gf;fj;jpd; ePsk; fhz;f 
 

14. Find the value of the following. 
 

i)
2 3 5 3 1

3 5 2 5 6
−  + − 

    

ii)
2 1 3 1

1
6 5 4 2

of
  

 − −  
  

  

iii)
1 5 3 1 1

3 4 5 2 4

−     
 +  −    

        
iv)

9 4 9 3

16 12 16 9

−   
 +    

   
 

fPo;f;fz;litfSf;F kjpg;Gf; fhz;f.  

i)
2 3 5 3 1

3 5 2 5 6
−  + − 

    

ii)

 

2 1 3 1
1

6 5 4 2

  
 − −  

  
,y;   
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iii)
1 5 3 1 1

3 4 5 2 4

−     
 +  −    

        
iv)

9 4 9 3

16 12 16 9

−   
 +    

   
 

 
15. Answer the following 

 
a. A ladder leaning against a vertical wall, makes an angle of 60o with the ground. The foot of 

the ladder is 3.5 m away from the wall. Find the length of the ladder. (5 m) 
Rthpy; rha;j;J itf;fg;gl;l xU VzpahdJ jiuAld; 60° Nfhzj;ij Vw;gLj;JfpwJ. 
Vzpapd; mb Rtw;wpypUe;J 3.5 kP J}uj;jpy; cs;sJ vdpy;> Vzpapd; ePsj;ijf; fhz;f 

 
b. The cost of three mathematics books and four science books is 216. The cost of three 

mathematics books is the same as that of four science books. find the cost of each book. (5 
m) 
%d;W fzpjg; Gj;jfq;fs; kw;Wk; ehd;F mwptpay; Gj;jfq;fspd; nkhj;j tpiy 216. %d;W 
fzpjg; Gj;jfq;fspd; tpiyAk; ehd;F mwptpay; Gj;jfq;fspd; tpiyAk; rkk; vdpy;> 
xt;nthU Gj;jfj;jpd; tpiyiaf; fhz;f.  

 
SECTION B 

10 x 15 = 150 
Answer the following in 250 words each 
 
16. What are plastics? Mention its types and impacts 

nefpopfs; vd;why; vd;d? mjd; tiffs; kw;Wk; jhf;fj;ij gw;wp Fwpg;gpLf. 
 
17. Answer the following 

gpd;tUtdtw;wpw;F tpilasp 
 

a. What are fertilizers?  (3m) 
cuq;fs; vd;why; vd;d? 

 
b. Describe the preparation, properties and uses of the following fertilizers (9m) 

gpd;tUk; cuq;fspd; jahhpg;G> gz;Gfs; kw;Wk; gad;fis tpthp 
 
i. Urea  

a+hpah 
 

ii. Ammonium sulphate 
mk;Nkhdpak; ry;Ngl; 

 
iii. Triple super phosphate  

bhpgps; #g;gh; gh];Ngl; 
 
18. Define the following terms with examples and list out their applications. 

 
a. Isotopes  

INrhNlhg;Gfs; 
 

b. Isobars  
INrhghh;fs; 
 

c. Isotones  
INrhNlhd;fs;  
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19. Explain Neutralization reaction and mention its applications in daily life?  
eLepiyahf;fy; tpid gw;wp tpthp kw;Wk; md;whl tho;tpy; mjd; gad;fis Fwpg;gpLf. 

 
20. How is soap prepared? What are the advantages and disadvantages of detergents over soap?  

Nrhg;G vt;thW jahhpf;fg;gLfpwJ? Nrhg;Gfis tpl ryit nghUl;fs; gad;gLj;Jtjd; 
gad;fisAk;> FiwfisAk; $W. 

 
21. Write an essay on allotropic forms of carbon.  

fhh;gdpd; Gw Ntw;Wik tbtj;Jtj;ij gw;wp fl;Liu vOJf. 
 
22. Write a short note on alloys and its advantages  

cNyhff; fyit kw;Wk; mjd; ed;ikfs; gw;wp Fwpg;G tiuf. 
 
23. Write down the classification and properties of acids  

mkpyq;fspd; tiffs; kw;Wk; gz;Gfis gw;wp vOJf. 
 

24. A vertical wall and a tower are on the ground. As seen from the top of the tower, the 

angles of depression of the top and bottom of the wall are 45˚ and 60˚ respectively. Find 
the height of the wall if the height of the tower is 90 m.       (15 m) 
xU nrq;Fj;jhd RtUk;> xU NfhGuKk; xU Fwpg;gpl;l ,ilntspapy; cs;sd. 
NfhGuj;jpd; cr;rpapypUe;J ghu;f;Fk; NghJ> Rtw;wpy; cr;rp kw;Wk; mb Mfpatw;wpd; 
,wf;ff; Nfhzq;fs; KiwNa 45˚ kw;Wk; 60˚ MFk;. NfhGuj;jpd; cauk; 90kP vdpy;> 

Rtw;wpd; cauj;ijf; fhz;f ( 3 = 1.732)  

 
25. Answer the following 

  
a. A cricket team won two matches more than they lost. If they win they get 5 points and for 

loss − 3 points, how many matches have they played if their total score is 50. (5 m) 

xU kl;ilg;ge;J mzp (cricket team) fye;J nfhz;l Nfhl;bfspy; Njhw;wij tpl ,U 
Ml;lq;fs; mjpfkhf ntd;whh;fs;. ntw;wpf;F 5 Gs;spfSk;> Njhy;tpf;F – 3 Gs;spfSk; 
toq;fg;gLfpd;wd. me;j mzp nkhj;jj;jpy; 50 Gs;spfs; ngw;wpUe;jhy;> me;j mzp 
fye;Jnfhz;l Ml;lq;fspd; vz;zpf;ifiaf; fhz;f 

 
b. Sum of three consecutive natural numbers is 216. Find the numbers 

%d;W mLj;jLj;j ,ay; vz;fspd; $Ljy; 216 vdpy; mt;ntz;fisf; fhz;f. (5 m) 
 

c. The sum of the digits of a given two digit number is 5. If the digits are reversed, the new 
number is reduced by 27. Find the given number. (5 m) 
Xh; <hpyf;f vz;zpd; ,yf;fq;fspd; $Ljy; 5. mjd; ,yf;fq;fs; ,lkhw;wg;gl;lhy; 
fpilf;Fk; Gjpa vz;zhdJ nfhLf;fg;gl;l vz;iz tpl 27 FiwT vdpy; me;j vz;izf; 
fhz;f 

 


